AB/ERRS BXFEARE
(B)FR26F4H18 (2)FR2743H318
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B T ® H EERSEE NEBERE & it RECELEHOH
WHEEFEINE 31,292,780 0 31,292,780 31,292,780
FAILFRTE ShHEE R A AU R 24,799,180 24,799,180 24,799,180
TOMDEE I 6,493,600 0 6,493,600 6,493,600
g FHENE R EINE 4,307,000 4,307,000 4,307,000
# D DEE IR 2,186,600 2,186,600 2,186,600
It BREREFHESINE 11,000 11,000 11,000
A Y—EREENURERET(T) 31,303,780 0 31,303,780| 31,303,780
% AGE 17,836,257 0 17,836,257 17,836,257
”Gj)z =XE 5,599,059 0 5,599,059 5,599,059
# B EBE 1,492,813 0 1,492,813 1,492,813
& BIEENE 4,706,293 4,706,293 4,706,293
EE#BEF AR RAREE -3,700,605 3,700,605 3,700,605
Y—EXFHERE2) 25,933,817 0 25,933,817 25,933,817
F—EAEENIBIBEE(3)=(1)-(2) 5,369,963 0 5,369,963 5,369,963
FDMDT—EAEEN SRR 296,544 0 296,544 296,544
*lf I ZATHEE I 0 0 0
t & FIFRE S AR 296,544 296,544 296,544
5% Y—EREE SR AR E(4) 296,544 0 296,544 296,544
f{ TDtDT—-EAEEISNE 296,544 0 296,544 296,544
ﬁ % FAEENEEE 296,544 296,544 296,544
‘? F—EREENSEREHG) 296,544 0 296,544 296,544
F—EAEBN MR ZEE(6)=(4)-(5) 0 0 0 0
EEIEIREZE(T)=(3)+6) 5,369,963 0 5,369,963 5,369,963
" g FFAIIUR AR 5H(8) 0 0 0 0
fé 5 EXRNHEBRATER 0 660,000 660,000 660,000
g & Al E FAEH) 0 660,000 660,000 660,000
A 5 A1 1 2= £8(10)=(8)—(9) 0 -660,000 -660,000 -660,000
LEEENIBIREER(11)=(7)+(10) 5,369,963 -660,000 4,709,963 4,709,963
B EE BRI EEE(12) 25,434,930 25,434,930 25,434,930
@ | BPIREEEEIRREZEE(3)=(11)+(12) 30,804,893 660,000 30,144,893 30,144,893
E O DIEIL £FEEE(16) 2,000,000 0 2,000,000 2,000,000
i}% BATEE RIS 4E 0 0 0
%%i. AGEIEILETEIEE 1,000,000 1,000,000 1,000,000
g) TEER B mIEL & TRILER 1,000,000 1,000,000 1,000,000
REFHRLIE B R 50 28,804,893 -660,000 28,144,893 28,144,893

(17)=(13)+(14)+(15)—~(16)




